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 Lesson 10 – Quiz Questions 

 

  

Q 1 How many tricks does the defence need to take to defeat the following? 

A 2 NT 

B 3  

C 4  

 

Q 2 West is on lead against 3NT by South.  He started with A lead which 

took the trick.  What should he do now? 

 

      A K Q 

      Q 9 4 

      5 4 3 

      Q T 8 4 

 

 5 3           N   

 K 6 5         

 Q 8 7    W          E            

 A K J 7 6          

           S 

 

Q 3 South is in 3 NT. The lead is 5  What should South do on this first trick? 
 

 A 9 4  North        

 T 6       

 A J 7 2            

 K Q 5 4 

 

 Q J T 5  South    

 A 8 2    

 T 6 4            

 A J 8 
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Q 4 South is in 3NT. The lead is T What should Declarer do on this first 

trick? 

 

 K 3 2  North        

 9 2        

 7 6 2             

 K Q T 9 2 

 

 A 7 4  South    

 A K 8 4       

 A K 8 4            

 J 4 
 

 

Q 5 South is in 4.  West leads a Club, which East wins with the Ace.  What 

should he do now? 

 

   K 9 5 2    

   9 4 3        

   A Q T             

    K J 7 

   North 

     A 7   

     8 6 5 2       

     8 6 5 2            

      A 5 2 

    East 
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Q 6 South is in 3NT.  Your partner, West, leads 6.  Your Q is taken by the 

A in South.  Declarer now plays off five diamond winners so you will have to 
find 2 discards. What do you (East) throw away? 
 

   9 8 4    

   K J 9 6    

   Q 6             

    A K J 9 

   North 

     Q T 3  

     A Q T 4     

     9 8 2            

      Q 4 3 
 

Q 7 South is in 3NT.  West leads the 5, South wins this trick and leads a Club 

which you (East) take with the K. What should you do next? 

 

   K 7 4    

   T 8 2      

   A K 5             

    Q J T 4 

   North 

     Q J T 2  

     J 7      

     9 6 4 3            

      K 7 5 

    East 

 

Q 8.  You are West playing in 3 NT.  The defenders have only passed during 

the auction. North leads     6.  How should you play? 

♠ A 5 3    ♠ 9 7 

♥ A 5      ♥ K 4 2 

♦ K J T 8 3    ♦ Q 9 7  

♣ A 3 2    ♣ K Q 6 5 

You (West)    Dummy (East) 

 

 


